Fantiti2zs / PRODUCTS OVERVIEW

s e

NMRVZ5igte i@t iRy . EE A T — 22 A
1LFRIBEEHE , BEER , A48 ;
2. A xEX ;

3AEo0¥ R | IRE/)\ , BEEESINEPRENESTAE ;
4 SES ;

5T |, AF3/)N ;

6.0 iGN EH UL,

FEMH

1. 5p5  $BE8E (HLEE : 025-090) , 5%k (#1EE : 110-150) ;

2. 12KF - 20Cr , BB |, SEEES6 - 62HRC |, BESEFEHEERE0.3 - 0.5mm :
3. 1850 - MR B,

Rl e

IREEIT

LGHIRANE | BB | (RFFRESER , ASH. —HRFRSFEATIREHE ;
2 BEANERE |, BIRALS010IEEEIRE&IREL.

AINTS | TR ERhEE | IERIARRALSO10E IR

PRODUCTS CHARACTERISTICS

NMRYV series worm gear units is a new-generation of product developed by our company on the basis of
perfecting WJ series products with a compromise of advanced technology both at home and abroad. Its main
features are as follows;

1. Made of high-quality aluminum alloy, light weight and non-rusting.

2. Large output torque.

3. Smooth in running and low in noise, can work long time in dreadful conditions.
4. High in radiating efficiency.

5. Good-looking in appearance, durable in service life and small in volume.

6. Suitable for omnibearing installation.

MAIN MATERIALS

1. Housing: die-cast aluminum alloy(frame size 025 to 090);cast iron(frame size:110 to 150);

2. Worm: 20Cr, carbonize&quencher heat treatment make the hardness of gear’s surface up to
56-62HRC,retain carburation layer’s thickness between 0.3 and 0.5mm after precise grinding.
3. Worm wheel: wearable stannum bronze alloy.

SURFACE PAINTING

Aluminum alloy housing:

1. Shot blasting and special antiseptic treat-ment on the aluminum alloy surface.
2. After phosphating, paint with RAL5010 blue or silvery white paint.

Cast iron housing: First paint with red antirust paint, then paint white RAL5010 blue or silvery white paint.

SUNCARVE 12



2251704 / MODEL ILLUMINATE

NMRV/NRV #5%g 81T imiRFEE -SRI
WORM GEARED MOTOS AND WORM GEAR UNITS

IR, / Gear box

B4, / Motor

NMRV 075

|

40 FA1 DZ1 80B5

B3

8014&y, / or 0.55-4 /[ 1

| |

©)

NO 1iBH Comments
1 BES : Model code
1. RVFBBATRINIEZ= 1. RV:Hole input with flange
2. NRVHIAARFRNZEZ= 2. NRV:Shaft input without flange
2 PR ERFIFRRLAOMEE (JAS ) Central distance of worm gear units(spec)
3 IR, Speed ratio of reducer
(1=5,7.5,10,15,20,25,30,40,50,60,80,100 ) r(i=5,7.5;10;15;20;25;30;40,50;60;80;100)
4 1. TRSFRTATRITRRELE 1. No mark means single extension worm shaft
2. E : iR E R R AN 2. E: Double extension worm shaft
5 1. TRSFRRATRHE= . No mark means without output flange
2. FA,FB,FC,FD,FE(1/2)tatit=SH& . FA,FB,FC,FD,FE(1/2):output Flange and position
6 1. S ESF~Flad . No mark means hole output
2.DZ (1/2) : EmmHimFnirsE . DZ(1/2):Single output shaft and position
3. SZ : XU[=)dai . SZ:Double output shaft
7 EINE=HIRE, ( A<EALET ) Normalized from of input flange(without motor)
8 TS Installation position code
9 1. T EFRTATE 1. No mark means without motor
2. BBHIBISEIhE |, thEl 2. Model motors(poles of power)
10 BilEEEMNE  BOAMELTLIAE Position diagram for motor terminal box default

13 SUNCARVE

position 1 not to write out is ok




782fEAZ20 / RELEVANT PARAMETER

IJZ P
P1 EIAINE fs {EFRRARZ
P1=P2/n (kw) P> #iHHIN=R n {&EIRER
Pin 2P1efs(kw) Pin A ZIEINZR

ENMRVIEREIRFTIRGEN LRI R |, XN IIRPinEIEEMANEER ANH BN WNANERREfs=107 , FETNEZEBANIIER |
EA{i7kw,

(ERRENBEERTS T BRI ENESEITEEEIN. HEEEaREIES , FEEE MEHRZRRE. EE5555
HEFADEENEEEBEMARNIZE BENETENN X,

BH

Power P

P. Input power fs Service factor
P1=P2/n (kw) P2 Output power n Transmission efficiency
P1in >P1efs(kw) Pin Rated input motor power

The parameter can be found in the NMRV gear-box rating charts and represents the kw that can be safely transmitted to
the gearbox, based on input speed n1 and service factor fs=1.

Values of n are calculated for gearboxes after a sufficiently in oreration reduces and finally stabilizes. It may be worth high
lighting that values of rated torque M2n given in the catalogue take the transmission efficiency n into consideration.

FEIE N ROTATION SPEED N
N1 R E A\ EE1ER n1 Gear units input speed
n2 RN R ESE n2 Gear units output speed

S A SR ERI o ST TSRS If driven by the external gearing, 1400r/min or lower rotation

speed is suggested so as to optimize the working conditions and

{(EFREn , $ZINERH1400r/mingg EB{AEIE, prolong the service life.

(ETILL | TRANSMISSION RATIO I
i=n,/n, i=n,/n,

HE M TORQUE M
M2=9550+P1* n /n2(Nm) M2=9550+P1¢ n /n2(Nm)
M2n=>M2efs(Nm) M2n=>Ma2efs(Nm)

M2 HmiitHzE M2 Output torque

M2zn EERILIHAR M2n Rated output trque

Pi1  EIAIDER P1  Input power

n {EaIRER n  Transmission efficiency

fs  {ERRZREX fs  Service factor

SUNCARVE 14









17580220 / RELEVANT PARAMETER

Hizm R AMEREMF R,

FxL< (N)

(b+Xx)
Fro WIETHEHRZSEPEHZENERRESFNFIEEERD (X=L/2) (N)
a,b  HRBERRZEREREE(mm)

X th P ESEPRERA S AEEE (mm)
a,b,Fro NE{EE TERIEEH .

The allowed radial load force on the shaft is calculated with the following formula:

FxL<s 1123 N
(b+x)

Fre Permitted overhung load(x=L/2)for foot—-mounted gear units according to the selection tables in (N)

A,b Gear unit constant for overhung load conversion(mm)
X Distance form the shaft shouldert to the force application point in(mm)

The values of a, b Fr2 are biven in the following tables:

i HEMIR METE / Out put shafts radial loads

oo X .................................... »l
FxL @ Fro
V
) W N S SE—
..... L/2
P— L k

025
a 50 65 84 101 120 131 162 176 188 215
b 38 50 64 76 95 101 122 136 148 174
Fro max 1350 1830 3490 4840 6270 7380 8180 12000 13500 18000
BN EIE / Input shafts radial loads
e X £
| P {}FXL
V

a 86 106 128 159 192 227 266 314 350
D /6 94.5 114 139 167 202 236 274 310
Fra max 210 350 490 700 980 1270 1700 2100 2800

17 SIUNCARVE




17589 HXZ2 / RELEVANT PARAMETER

R FEE / SELECTION TABLES COMMENTS

P N,

i

(r/min)

P1n M ANBYIENR (kw);
N2 ﬁh_l?%ﬁ(r/min)
Mzn 20 € B AHFE(Nm);
M2 max Eﬁkﬁﬂ:ﬁujriﬁ (Nm)
| BORLIEREL ;

¥ HRZE

BORNE S ;
- B 8= ;

126 BY%EH) / SELECTION EXAMPLE
EREIZEN ]I

Bl . IEEME B INZE0.5KW, ni =1400r/min,
B ERE, BISNR200K//NE, 24/ \BES
—;H ﬂziﬁmf‘*S?C ?ﬁ“Lﬁ?Enz:QS.Sr/min,
ﬁE%MERBS:ﬂ?%TiLL, nyj .

._ ni _1400 _

BEPIITIN S5k, HEHI=160F, na=0.82
EEEEFERZRZREEBs=1.53x1.12=1.714
Pin= P2/Md*fs=0.5/0.82x1.714=1.045(kw)
BENMRVAR I SRR HEREEVE S A,
NMRV075-15-B3-1.1-4

4Rl

I FEM2 1T E .
9550.P2 9550x0.5 _
M= 3 =933 =51.18(Nm)

M2,=95=>M:2¢fs =51.18%1.714=87.72(Nm

]!
1§'J I B

A 46 5300Nm,

T {E8/)\B &

)

ZIETT, MG RE, BIHMESKINE, KR

S E30°C , BPoJik

Mzn=M:>-fs=300%X1. 32-396 (Nm)
e I'I1 - 900

BENMRV RIS RO EBRENE S A .
NMRV 090-40

HZfs=1.2x1.1=1.32, &
A% A L3N 1 =900r/min & B E55En2 =22.5 r/min.

P1n Rated power driving motor (kw)
N2 Output speed (r/min)

M 2n Rated output torque(Nm)

M2 max Permissible output torque(Nm)

| Gear unit ratio
fs Service factor

Gear unit type

Motor type

GEAR MOTOR

Example:The input power of driver machine is 0.5kw, n1 =1400r/min,
uniform, startup frequency 20(1/h),continuous running for 24 hous,

the ambient temperature is 32°C,n2 =93.3r/min,B3 mounted so:

Check mash table on P19 ,estimate when the i=15, T4 =0.82
Check and adjust the service factor,will get fs=1.53x1.12=1.714

Pin =P2/Nd- fs=0.5/0.82x1.714=1.045(kw)

Choose type:
NMRVO75-15-B3-1.1-4

9550-P: _ 9550%0.5
M:= =

n: 93.3

=51.18(Nm)

M2,=95=>M:2fs=51.18%1.714=87.72(Nm)

GEAR UNITS

Example:Required torque 300um on driven machine, continuous
running for 8 hours,uniform loda,the ambient temperature is 30 °C,
then choose the service factorfs=1.2x1.1=1.32,n1+ =900r/min,
Nz =22.5r/min.

M2n=M2 - fs=300X%X1. 32-396 (Nm)

 n.+ _ 900
i=, =22.5 ~40

Choose type:
NMRV090-40

SUNCARVE 18






NMRVZE 52 E / NMRV STRUCTURE DIAGRAM

JHE]
N7 ARk
BlAE=
ORRETEEIE
LD
FLEI NSRS AR
FLEIABRTT
TN AT
AR N\ ERFT
L3S

O 00 N O 1 B W N =

(-
o

Oil seal

Hexgon socket head cap screw
Flange PAM

O-ring

Bearing

Double ext. RV Worm

PAM worm

RV worm

O 0 d O 1 B W N B

Double ext. RV worm

10 Bearing

ORISR

Y2

EiES)

g

ELLS

JHEE

Y

FLASR IS
SR
s

O-ring
Bearing block
Oil seal
Parallel key
Cablint

Plug cock
Bearing
Circlip for hole
Oil seal

Oil seal

HOE

N7 AR IR
B A=
AR
=i

JEHEY

VS

BR¥C

S
ORI I

Torque arm

Hexgon socket head cap screw

Output flange

Circlip for shaft
Washer

Oil seal
Bearing
Worm wheel
Bearing

O-ring

31
52
33
34
35
36
37

31
32
33
34
35
36
37

Tl
7R EIESLERE
JHEY

Bk b
ELihe

2]
XX

Li
T

%

T

Bearing support cover

Hexgon socket head cap screw

Oil seal

Single output shaft
Double output shaft
Parallel key

Parallel key

SUNCARVE 20









RVRY/ RV SIZE

179

B
‘/ / & ®
f ’ 28] '
I |
A, &@ @
| - - _ i
n—BL = AN 5 ! ) a
17 | | AT
s C - F
s —l] —
e P - - Cf -
M FL

Tffﬁx’ﬁ%

— — — —

77 T
o st :

G1

C ©61 D(H8) E(h8) F G BL t

030 | 80 | 97 | 54 | 44 14 56 |32 |56 | 63 (66| 29 | 85 | 40 57 | 30 | 75 | 44 |6.5] 21 |5.5|M6X10(n=4)| O° 16. 3 27
040 | 100 (121.5| 70 | 60 |18(19)| 60 | 43 | 71 | 78 | 75 |36.5| 70 | 50 |71.5| 40 | 87 | 55 |6.5| 26 | 6.5 | M6X10(n=4) | 45° 20.8(21.8)| 35
050 | 120 | 144 | 80 | 70 |25(24)| 70 | 49 | 85 | 92 | 85 |43.5| 80 60 | 84 | 50 |[100| 64 [8.5| 30 | 7 |M8X12(n=4) | 45° 28.3(27.3)| 40
063 | 144 | 174 |100 | 85 |25(28)| 80 | 67 |103(112| 95 | 63 | 95 | 72 [ 102 | 63 |110| 80 (8.5| 36 | 8 |MBX12(n=8)|45°| 8 |28.3(31.3)| 50
075 | 172 | 205 (120 | 90 |28(35)| 95 | 72 |[112[120|115| 57 (112.5| 86 | 119 | 75 |140| 93 | 11 | 40 | 10 | M8X14(n=8) | 45° |8(10)/31. 3(38. 3)| 60

090 | 206 | 238 140 | 100 |35(38)| 110 | 74 |[130 (140 130 | 67 (129.5| 103 | 135 | 90 |160 (102 | 13 | 45 | 11 |[M10X16(n=8) 45° | 10 |38.3(41.3)| 70

o | O~ On

110 | 265 | 295 170 | 115 | 42 130 | — [144 155|165 | 74 | 160 |127.5|167.5/ 110 |200(125| 14 | 50 | 14 M10X18(n=8)| 45° | 12 45. 3 895
130 | 293 | 335 | 200 | 120 | 45 180 | — [155(170(215| 81 | 179 |146.5(187.5/ 130 {250 (140 | 16 | 60 | 15 [M12X20(n=8)| 45° | 14 48. 8 100
150 | 340 | 400 | 240 | 145 | &0 180 | — [185/200|215| 96 | 210 | 170 | 230 [ 150 | 250|180 | 18 |72.5| 18 [M12X22(n=8) 45° | 14 53.8 120

SUNCARVE 24



RV-ERST /RV-E SIZE

B G2 | _H W

b1

o
o1

t1

]
e o]

S
e
DS
0
%

. \”‘*—J’—‘?;, SRS T

L SERRRRKKLER
o) /555N (O |
0% L\ ‘ o
5K ST
RS s T T
S e XX S
7070 o0,
' KK KXY
.- NSRS bl le -
SRR s

)
NS
Bl B

il

Iy

B L b
TEHHH%HHKHKI

777V Z
2
S S

G1

C1 D(H8) D1(j6) E(h8) F G BL b1 t
030 | 80 | 97 | 20 | 54 | 44 | 14 9 55 |32 (56|63 |45 | 65|29 | 55 | 40 | 57 | 30 |75 |44 |6.5| 21 |5.5/M6X10(n=4)| 0° | 5 | 3 16.3 [10.2( - | 27
040 | 100 ({121.5| 23 | 70 | 60 [18(19)| 11 60 |43 | 71 |78 | 53 | 75 (36.5| 70 | 50 |71.5| 40 | 87 [ 55 |6.5| 26 | 6.5 M6X10(n=4) (45°| 6 | 4 |20.8(21.8)[12.5| — | 35
050 | 120 | 144 | 30 | 80 | 70 |25(24)| 14 | 70 |49 | 85|92 |64 |85 |43.5/ 80 | 60 | 84 | 50 |[100| 64 |8.5| 30 | 7 |M8X12(n=4)|45°| 8 | 5 |28.3(27.3)| 16 | M6 | 40
063 | 144 | 174 | 40 | 100 | 85 [25(28)| 19 | 80 | 67 |103|112|75 | 95| 53 | 95 | 72 | 102 | 63 (11080 |8.5( 36 | 8 |MBX12(n=8) |45°| 8 | 6 |28.3(31.3)21.5 Mé | 50
075 | 172 | 205 | 50 | 120 | 90 |28(35)| 24 | 95 |72 |112|120| 90 |115| 57 [112.5] 86 | 119 | 75 (140 93 | 11 | 40 | 10 |M8X14(n=8) | 45°|8(10) 8 |31.3(38.3)| 27 | M8 | 60
090 | 206 | 238 | 50 | 140|100 |35(38)| 24 | 110 | 74 {130 140|108 (130 | 67 [129.5| 103 | 135 | 90 | 160|102 | 13 | 45 | 11 M10X16(n=8) 45°| 10 | 8 |38.3(41.3)| 27 | M8 | 70
110 | 255 | 295 | 60 (170 | 116 | 42 28 | 130 | — [144(155|135|165| 74 | 160 (127.5|167.5/ 110|200 |125| 14 | 50 | 14 |M10X18(n=8) 45°| 12 | 8 45, 3 31 [M10| 85
130 | 293 | 335 | 80 | 200|120 | 45 30 [ 180 | — 155|170 |155|215| 81 | 179 |146.5|187.5/ 130 | 250|140 | 16 | 60 | 15 M12X20(n=8) 45°| 14 | 8 48.8 33 | M10 {100
150 | 340 | 400 | 80 | 240|145 | 30 35 [ 180 | — |185]200(175(215| 96 | 210 | 170 | 230 | 150 | 250|180 | 18 |72.5| 18 M12X22(n=8)[ 45°| 14 | 10 23.8 38 |M12 {120

SUNCARVE 26



NRVXST / NRV SIZE

- M — Bl e B ——
] '
| 1 Q
| - | 4
~ e e e — } = =D / %ﬁ ! ‘
; /Q éjf" @\ —— \ h =
2 t1 A
B : S o "
/ O A\ O\ ] = .
/{7 = f: L } L
IS ) i
O | Q) > .
- 5 ) = 7
n— == : - , 1™ | r
@ % @ Y | p H 1 HT\F .
v L) R—j—#/( ) W ' ' s Il Il i | P
L C 4l WS AN,
ML

D7 77 00
7

G1

D(H8) D1(H8) E(h8) F G BL t
030 | 80 | 97 | 20 | 54 | 44 | 14 ? 55 |32 | 56|63 (65|29 | 51 | 40 | 57 | 30 | 75|44 |6.5| 21 [5.5 M6X10(n=4)| 0° | § | 3 16.3 [10.2( - | 27
040 | 100 [121.5| 23 | 70 | 60 |18(19)| 11 60 |43 | 71|78 |75 (365 60 | 50 [71.5| 40 | 87 | 55 |6.5| 26 |6.5|M6X10(n=4) |45°| 6 | 4 [20.8(21.8)[12.5| — | 35
050 (120 | 144 | 30 | 80 | 70 |[25(24)| 14 70 |49 | 85|92 |85|43.5| 74 | 60 | 84 | 50 [100| 64 [8.5| 30 | 7 |M8X12(n=4)|45°| 8 | 5 |28.3(27.3)| 16 | M6 | 40
063 | 144 | 174 | 40 {100 | 85 |25(28)| 19 80 |67 (103112 95| 53 | 90 | 72 | 102 | 63 [110( 80 [8.5| 36 | 8 |MBX12(n=8)|45°| 8 | 6 |28.3(31.3)|21.5 M6 | 50
075 (172 | 205 | 50 (120 | 90 |28(35)| 24 | 95 |72 |112(120|115| 57 | 105 | 86 | 119 | 75 [140| 93 | 11 | 40 | 10 [M8X14(n=8)|45° |8(10)| 8 |31.3(38.3)| 27 | M8 | 60
090 | 206 | 238 | 50 | 140 | 100 |35(38)| 24 | 110 | 74 (130|140 (130| 67 | 125 | 103 | 135 | 90 (160|102 | 13 | 45 | 11 |M10X16(n=8) 45° | 10 | 8 |38.3(41.3)| 27 | M8 | 70
110 | 255 | 295 | 60 (170 | 115 | 42 28 | 130 | — (144|155 |165| 74 | 142 |127.5/167.5/ 110|200 (125 | 14 | 50 | 14 |M10X18(n=8) 45°| 12 | 8 45. 3 31 [M10| 85
130 | 293 | 335 | 80 (200 | 120 | 45 30 | 180 | — [155|170|215| 81 | 162 (146.5/187.5/ 130 | 250|140 | 16 | 60 | 15 M12X20(n=8) 45°| 14 | 8 48. 8 33 [M10|100
150 | 340 | 400 | 80 | 240|145 | 50 35 | 180 | — |185[200|215| 96 | 195 | 170 | 230 | 150 | 250180 | 18 |72.5| 18 [M12X22(n=8) 45°| 14 | 10 53.8 38 ‘M121120

SUNCARVE 28



NRV-ER / NRV-E SIZE

B G1 _
Bl . G J B pa it uy BE o
-
1 - \
P - f1 a
g 1
% ' — % ;
P
£1 B b1 i
5 5 <
m - | -
a0
i T
= |
n-BL | S s
= | C
-/ [} 'j_‘\'
I A L
= G ~

e

TTTT7 %x’fff/] D

S S ”//////
Y
N (73

D(H8) D1(H8) E(h8) F G BL b’ t
030 | 80 | 97 [ 20 | 54 | 44 | 14 9 56 |32 | 56|63 |45 |65| 29 | 51 | 40 | 57 | 30 | 75|44 |6.5| 21 |5.5|M6X10(n=4)| 0° | 5 | 3 16.3 |(10.2| — | 27
040 (100 (121.5( 23 | 70 | 60 (18(19)| 11 60 (43| 71|78 |53 |75 (365 60 | 50 |71.5| 40 | 87 | 55 |6.5| 26 |6.5|M6X10(n=4) | 45°| 6 | 4 |20.8(21.8)[12.5| — | 35
050 (120 | 144 | 30 | 80 | 70 [25(24)| 14 | 70 |49 | 85|92 |64 | 85 (43.5| 74 | 60 | 84 | 50 {100 64 [8.5{ 30 | 7 [M8X12(n=4)|45°| 8 | 5 |28.3(27.3)| 16 | M6 | 40
063 (144 | 174 | 40 | 100 | 85 [25(28)| 19 | 80 |67 (103 (11275 (95| 63 | 90 | 72 | 102 | 63 |110| 80 |8.5| 36 | 8 [MBX12(n=8)|45°| 8 | 6 |28.3(31.3)(21.5 M6 | 50
075 | 172 | 205 | 50 {120 | 90 |28(35)| 24 | 95 |72 |112|120| 90 {115| 57 | 105 | 86 | 119 | 75 (140| 93 | 11 | 40 | 10 |M8X14(n=8)|45° |8(10)] 8 [31.3(38.3)| 27 | M8 | 60
090 | 206 | 238 | 50 | 140 | 100 {35(38)| 24 | 110 | 74 {130 140|108 [130| 67 | 125 | 103 | 135 | 90 | 160 |102| 13 | 45 | 11 M10X16(n=8) 45° | 10 | 8 |38.3(41.3)| 27 | M8 | 70
110 [ 255 | 295 | 60 (170 | 115 | 42 28 | 130 | — |144 155|135 |165| 74 | 142 |127.5(167.5/ 110|200 [125| 14 | 50 | 14 [M10X18(n=8) 45°| 12 | 8 45. 3 31 [M10 | 85
130 | 293 | 335 | 80 (200|120 | 45 30 | 180 | — |155(170|155|215| 81 | 162 |146.5(187.5/130 |250|140| 16 | 60 | 15 M12X20(n=8){ 45° | 14 | 8 48. 8 33 |M10 {100
150 | 340 | 400 | 80 | 240 | 145 | 50 35 | 180 | — |185(200|175|215| 96 | 195 | 170 | 230 | 150 | 250|180 | 18 [72.5| 18 M12X22(n=8)| 45° | 14 | 10 53.8 38 [M12 {120

SUNCARVE 30




NMRVO25 /W22 / NMRV0O2S SMALL MODEL

4

45

35

RV

®55

37

S
REAEIBHRK
SEAXIKAX

22

s

RV-E

45

*w oLt ||
o3Ll> | Ly d ﬁ
4|Wi_ i1 N 5%
A 8Ci g & ; _ s
& N _
i S thﬂMMW > ﬁiw
. W _ & D/ & §
] Mm \ Mm %
ol AN i |5 o
Ts! ﬁ 0o ﬁ_ R / /
_ MIR
N[ |} NLW N T
- 8 Ge —— m_ﬂ
' 1y
e TN
. 3
2 2D
€ 1\ D
FET i

(FA)

b
.

BV &

/

ik

31 SUNCARVE



A 17EE2%E / GEAR UNIT SELECTION TABLES

NMRV..IEC...¥8E&%1 / PERFORMANCE PARAMETER

= n, .
(kw) (r/min) (N)
280 5 1.8 439 6.2
186.7 7.5 2.6 503 4.2
140 10 3.4 553 3.5
93.3 15 4.9 633 2.5
s - 5 e P NMRV025 56814 5614
46.7 30 8.3 798 1.6
35 40 10 878 1.2
28 50 12 946 0.9
. 23.3 60 14 1006 0.7
186.7 7.5 2.6 683 7.0
140 10 3.4 752 5.4
93.3 15 4.7 861 3.9
70 20 6 948 3.1
96 2n 7 1021 3.1 NMRV030 56B5/B14 5614
46.7 30 8 1085 2.5
35 40 9.7 1194 1.9
28 50 11 1286 1.5
23.3 60 13 1367 1.3
17.5 80 14 1504 0.9
373.3 7.5 2.0 399 3.9
280 10 2.6 439 3.4
186.7 15 3.8 503 2.4
140 20 4 9 5573 18 NMRV025 56B14 5612
93.3 30 6.7 633 1.3
70 40 8.5 697 1.1
56 50 10 751 0.9
186.7 7.5 3.9 503 2.8
140 10 5.1 553 2.4
93.3 15 7.3 633 1.6
oo - - o o A NMRV025 56814 5624
46.7 30 13 798 1.0
35 40 16 878 0.8
373.3 7.5 2.0 542 6.5
280 10 2.6 597 5.0
186.7 15 3.7 683 3.5
140 20 4.7 752 2.5
112 25 5.5 810 2.9
- o - o - NMRV030 56B5/B14 5612
70 40 8.0 948 1.8
56 50 9.4 1021 1.4
46.7 60 10 1085 1.1
35 80 13 1194 0.9

SUNCARVE 32



i 117825% / GEAR UNIT SELECTION TABLES

s n, . M., Fis
(kw) (r/min) (Nm) (N) s
186.7 75 3.9 683 47
140 10 5.0 752 3.6
03.3 15 7.0 861 26
70 20 8.8 948 2.0
56 25 10 1021 2 1 NMRV030 56B5/B14 5624
46.7 30 12 1085 1.7
0.09 35 40 14 1194 1.2
28 50 17 1286 1.0
23.3 60 18 1367 0.9
28 50 19 2475 2 1
fidod a0 2] i L NMRV040  56B5 5624
17.5 80 25 2895 1.3
14 100 29 3118 1.0
373.3 75 27 399 3.0
280 10 3.5 439 26
186.7 15 5.1 503 1.8
10 - - e, - NMRVO25  56B14 5622
03.3 30 9.0 633 1.0
70 40 11 697 0.8
186.7 75 5.2 683 3.5
140 10 6.6 752 27
03.3 15 0.3 861 1.9
70 20 12 048 1.5
e e > 101 e NMRVO30 63B5/B14 6314
0.12 46.7 30 16 1085 1.3
35 40 19 1194 0.9
28 50 20 1286 0.8
46.7 30 17 2087 27
35 40 21 2298 1.9
28 50 25 2475 1.6
- = . = + NMRV040 63B5/B14 6314
17.5 80 33 2895 1.0
14 100 38 3118 0.8
23.3 60 29 3610 23
17.5 80 35 3973 1.9 NMRVO50  63B5 6314
14 100 39 4280 1.4
373.3 75 4.0 542 3.2
280 10 5.0 597 25
186.7 15 7.4 683 1.8
140 20 9.5 752 1.3 NMRV030 63B5/B14 6312
112 25 11 810 1.4
93.3 30 13 861 1.2
0.18 70 40 16 948 0.9
186.7 75 7.7 683 23
140 10 10 752 1.8
93.3 15 14 861 1.3
= o . e P NMRV030 63B5/B14 6324
56 25 20 1021 1.0
46.7 30 24 1085 0.8

33 SUNCARVE



7825 / GEAR UNIT SELECTION TABLES

P.. n, . M., o
(kw) (r/min) (Nm) (N) TS
93.3 30 14 1657 2D
70 40 17 1824 1.8 NMRV040 63B5/B14 6312
56 50 21 1964 1.4
/70 20 19 1824 2.
56 25 23 1964 1.7
o e i el e NMRBV040 63B5/B14 6324
35 40 32 2298 1.3
28 20 ST 2475 1.0
23.3 60 42 2630 0.9
45 20 28 2113 1.6
36 25 34 2276 L
i = = Py P NMRV040 71B5/B14 7116
018 225 40 47 2662 1.0
46.7 60 24 2865 2]
35 80 30 3153 1:5 NMRV0O50 63B5 6312
28 100 34 3397 1.2
G135 40 33 3153 2.0
28 50 39 3397 1.9
23.8 60 43 3610 1.6 NMRV0O50 63B5 6324
17.5 80 O 3973 1.2
14 100 59 4280 0.9
18 50 56 3936 1.4
15 60 63 4183 1:1 NMRVO50 71B5/B14 7116
11.3 80 75 4604 0.9
15 60 66 o467 2.1
11:3 80 79 6018 1.6 NMRV0O63 71B5/B14 7116
9 100 90 6270 1.4
8.3 7.8 56 542 2.3
280 10 2 597 1.8
186.7 15 10 683 1.3
NMRVO30 63B5/B14 6322
140 20 13 752 0.9
112 25 15 810 1.0
93.3 30 18 861 0.8
186.7 ) 11 13158 3.6
140 10 14 1447 2.8
93.3 15 20 1857 2.0
0.25 70 20 26 1824 1.5 NMRV040 71B5/B14 7114
56 25 32 1964 1.2
46.7 30 35 2087 1.3
35 40 44 2298 0.9
120 Fes 1 1524 2.6
90 10 22 1677 2.0
60 15 31 1920 1.4
pr o0 o o T NMRV0O40 71B5/B14 7126
36 25 48 2276 0.9
30 30 o 2419 0.9

SUNCARVE 34



iz 1825% / GEAR UNIT SELECTION TABLES

35 80 42 3153 1.1
NMRVO50 63B5/B14 6322
o8 100 48 3397 0.8
70 20 07 2503 2.7
56 o5 32 2696 2.2
46.7 30 36 2865 2.3
. 20 16 en o NMRVO50 71B5/B14 7114
o8 50 54 3397 1.4
03.3 60 60 3610 11
17.5 80 72 3973 0.9
45 20 40 2900 1.9
36 o5 48 3124 15
30 30 54 3320 1.7
NMRVO50 71B5/B14 7126
205 40 67 3654 1.2
0.25 18 50 78 3936 1.0
15 60 88 4183 0.8
o8 50 55 4440 2.4
03.3 60 63 4719 2.0
NMRVO63 71B5/B14 7114
17.5 80 76 5193 1.6
14 100 87 5595 1.4
18 50 81 5145 1.8
15 60 92 5467 1.5
NMRVO63 71B5/B14 7126
11.3 80 110 6018 1.2
9 100 125 6270 1.0
17.5 80 80 6130 2.4
NMRVO75 71B5 7114
14 100 94 6603 1.9
11.3 80 117 7103 1.7
NMRVO75 71B5 7126
9 100 133 7380 1.4
373.3 75 8.3 1044 3.4
280 10 11 1149 2.6
186.7 15 16 1315 1.9 NMRV040 71B5/B14 7112
140 20 20 1447 1.4
112 25 25 1559 1.1
186.7 7.5 16 1315 2.5
140 10 21 1447 1.9
93.3 15 30 1657 1.3
NMRV040 71B5/B14 7124
70 20 39 1824 1.0
56 o5 47 1964 0.8
0.37 46.7 30 52 2087 0.9
112 o5 o5 2140 2.0
93.3 30 29 2074 2.2
70 40 37 2503 1.6 NMRVO50 71B5/B14 7112
56 50 44 2696 1.0
46.7 60 50 865 1.0
35 80 62 3153 0.7
140 10 21 1987 3.4
93.3 15 31 2074 2.4 NMRVO50  71B5/B14 7124
70 20 39 2503 1.9

35 SUNCARVE




7825 / GEAR UNIT SELECTION TABLES

Pm nE MEn FrE
(kw) (r/min) (Nm) (N)
56 25 47 2696 1.5
46.7 30 54 2865 1.6
35 40 68 3153 1.1 NMRV050 71B5/B14 7124
28 50 80 3397 0.9
23.3 60 89 3610 0.8
120 7.5 25 2091 3.4
90 10 33 2302 2.6
60 15 47 2635 1.8
NMRV050 80B5/B14 8016
45 20 59 2900 1.3
36 25 72 3124 1.0
30 30 80 3320 1.1
35 40 70 4122 2 1
28 50 82 4440 1.6
oo Y 60 94 4719 1.4 NMRV063 71B5/B14 7124
17.5 80 113 5193 1.1
0.37 14 100 129 5595 0.9
45 20 60 3791 2.4
36 25 73 4084 1.9
30 30 82 4339 2.1
NMRV063 80B5/B14 8016
22 5 40 102 4776 1.6
18 50 120 5145 1.2
15 60 137 5467 1.0
233 60 97 5569 S
17.5 80 119 6130 1.6 NMRV075 71B5 7124
14 100 139 6603 1.3
18 50 124 6073 1.8
15 60 141 6453 1.5
NMRV075 80B5/B14 8016
11.3 80 173 7103 1.2
9 100 196 7380 1.0
11.3 80 185 7859 1.7
NMRV090 80B5/B14 8016
9 100 212 8180 1.3
373.3 7.5 12 1044 23
280 10 16 1149 1.8
186.7 15 24 1315 1.3 NMRV040 71B5/B14 7122
140 20 30 1447 1.0
112 25 37 1559 0.8
140 20 31 1987 1.7
112 25 38 2140 1.4
03.3 30 43 2274 1.5
NMRV050 71B5/B14 7122
70 40 55 2503 1.1
0.55
56 50 65 2696 0.8
46.7 60 74 2865 0.7
186.7 7.5 24 1805 2.9
140 10 32 1987 2.3
93.3 15 46 2274 1.6
NMRV050 80B5/B14 8014
70 20 59 2503 12
56 25 70 2696 1.0
46.7 30 80 2865 1.1

SUNCARVE 36



i 17EEE%% / GEAR UNIT SELECTION TABLES

|:,1n

(kw)

0.95

N, =
(r/min) (N)
120 10 3 2091 2.3
90 10 48 2302 P
NMRV0O50 80B5/B14 8026
60 15 69 2635 j
45 20 88 2900 0.9
70 40 56 3272 1.9
56 50 68 3524 1:5
46.7 60 /8 3745 7 [ NMRV063 71B5/B14 i
35 80 96 4122 0.9
28 100 111 4440 DLl
70 20 60 3272 L
o0 25 i 3524 1.8
46.7 30 82 3745 1.9
NMRV063 80B5/B14 8014
39 40 104 4122 1.4
28 50 122 4440 1.1
23,3 60 140 4719 0.9
60 15 70 3444 2l
45 20 90 3791 1.6
30 30 123 4339 1.4
22,9 40 152 4776 1.1
35 80 99 4865 ]
NMRVO75 71B5 7122
28 100 116 5241 1.0
35 40 108 4865 2.0
28 50 128 5241 1.6
23 3 60 144 5569 1 4 NMRV0O75 80B5/B14 8014
1S 80 AT 6130 1
14 100 206 6603 0.9
30 30 124 S8 2l
22.5 40 156 0637 1.5
NMRV075 80B5/B14 8026
18 50 184 6073 1.2
15 60 210 6453 1.0
T 2 80 189 6783 s
NMRV090 80B5/B14 8014
14 100 221 7306 12
18 50 196 6719 2.0
15 60 224 7140 1.0
NMRV090 80B5/B14 8026
Tl 80 275 7859 1.1
9 100 315 8180 0.9
175 80 201 8571 2.6
NMRV110 80B5 8014
14 100 236 9232 2.0
1 80 294 9931 1.8
NMRV110 80B5 8026
9 100 344 10320 ] s

37 SUNCARVE




i 17E225% / GEAR UNIT SELECTION TABLES

?

n

(kw)

.75

n, M,, s
(r/min) (Nm) (N) 8
373.3 7.5 17 1433 3.0
280 10 59 1577 2.4
1957 1 o 1895 I NMRVO50  80B5/B14 8012
140 20 41 1987 1.3
112 25 49 2140 1.0
93.3 30 56 2274 1.1
280 5 23 1577 2.7
186.7 7.5 33 1805 2.1
140 10 43 1987 1.7 NMRV050 80B5/B14 8024
93.3 15 62 2274 1.2
70 20 80 2503 0.9
140 20 43 2597 2.3
112 25 52 2797 1.8
299 - - o7 =0 NMRV063  80B5/B14 8012
70 40 77 3272 1.4
56 50 92 3524 1.1
46.7 60 106 3745 0.9
93.3 15 63 2973 2.2
70 20 82 3272 1.6
56 25 08 3524 1.3 NMRV063  80B5/B14 8024
46.7 30 112 3745 1.4
35 40 141 4122 1.0
120 7.5 51 2734 2.9
90 10 67 3009 2.3
60 15 96 3444 1.6
NMRV063  90B5/B14 90S6
45 20 123 3791 1.2
36 25 147 4084 0.9
30 30 167 4339 1.0
46.7 60 107 4421 1.3
35 80 135 4865 1.0 NMRV0O75 80B5/B14 8012
28 100 159 5241 0.8
56 25 101 4160 2.0
46.7 30 117 4421 2.0
35 40 147 4865 1.5 NMRV0O75  80B5/B14 8024
28 50 174 5241 1.2
23.3 60 196 5569 1.0
60 15 97 4065 2.4
45 20 124 4474 1.9
36 25 149 4820 1.4 NMRV0O75 90B5/B14 9056
30 30 170 5122 1.5
22.5 40 213 5637 1.1
o5 o0 1 >989 16 NMRV090 80B5/B14 8012
28 100 169 5799 1.2
28 50 182 5799 i.0
23.3 60 209 6163 1.5
e - oes . - NMRV090 80B5/B14 8024
14 100 302 7306 0.9

SUNCARVE 38



fE 178255 / GEAR UNIT SELECTION TABLES

Pin ng MEH FrE f
(kw) (r/min) (Nm) (N) 2
30 30 179 5667 2.6
22.5 40 226 6238 1.8
NMRBV0O90 90B5B14 90S6
18 50 2067 6719 1.5
15 60 306 7140 1.1
17.5 80 274 8571 1.9
0.75 NMRV110 80B5 8024
| 14 100 322 9232 1.5
15 60 325 0023 2.1
1S 80 401 9931 1.4 NMRV110 90B5 90S6
9 100 470 10320 1.1
11.3 80 401 12989 2.1
NMRV130 90B5 90S6
9 100 470 13500 3l
St3:3 V= 25 1433 2.1
280 10 33 1577 1.7
NMRVO50 80B5/B14 8022
186.7 15 48 1805 1.2
140 20 62 1987 0.9
186.7 15 46 2359 2.1
140 20 60 2597 1.6
112 25 /2 2797 1.2 NMRV063 80B5/B14 8022
03.3 30 82 2973 1.4
70 40 104 3272 1.0
120 7.5 73 2734 2.0
90 10 98 3009 1.6
NMRV0OG63 90B5/B14 90L6
60 15 140 3444 1.1
45 20 180 3791 0.8
186.7 7.5 50 2359 2.6
11 140 10 65 2597 2.0
i 19 P il L3 NMRV0O63 90B5/B14 90S4
70 20 120 3272 155
56 25 144 3524 0.9
46.7 30 164 3745 1.0
112 25 Fer 3302 2.0
03.3 30 89 3509 1.9
70 40 114 3862 1.4 NMRVO75 80B5/B14 8022
56 50 137 4160 1.
46.7 60 158 4421 0.9
90 10 08 3551 2.3
60 15 142 4065 1.7
45 20 182 4474 1.8 NMRVO75 90B5/B14 90L6
36 25 219 4820 1.0
30 30 249 5122 1.0

39 SUNCARVE




a7 E2%% / GEAR UNIT SELECTION TABLES

MEH FrE
93.3 15 95 3509 2.1
70 20 192 3862 1.7
56 25 148 4160 1.3 NMRV0O75 90B5/B14 90S4
46.7 30 171 4421 1.3
35 40 216 4865 1.0
35 80 210 5383 1.1
NMRV090 80B5/B14 8022
28 100 248 5799 0.8
36 05 208 5333 1.6
30 30 263 5667 1.8
22 5 40 331 6238 1.2 NMRV090 90B5/B14 90L6
18 50 391 6719 1.0
15 60 448 7140 0.8
13 35 40 202 5383 1.6
| 28 50 266 5799 1.3 NMRV090 90B5/B14 90S4
23.3 60 306 6163 1.0
20 5 40 345 7882 2.3
18 50 414 8491 1.8
NMRV110 90B5 90L6
15 60 476 9023 1.4
11.8 80 588 0931 1.0
28 50 278 7328 2.4
23.3 60 324 7787 1.9
NMRV110 90B5 90S4
17.5 80 402 857 1 1.3
14 100 473 9232 1.0
11.3 80 588 12089 1.5
NMRV130 90B5 90L6
9 100 689 13500 1.1
17.5 80 408 11210 9! 9
NMRV130 90B5 90S4
14 100 480 12076 1.5
373.3 7.5 34 1433 1.5
280 10 45 1577 1.2 NMRV0O50 80B5/B14 8032
186.7 15 65 1805 0.9
186.7 7.5 68 2359 1.9
140 10 88 2597 1.5
NMRV063 90B5/B14 90L4
93.3 15 126 2973 1.1
70 20 164 3272 0.8
373.3 7.5 35 1873 9T
NMRV063 90B5/B14 90S2
280 10 45 2061 L,
186.7 15 66 2359 1.6
140 20 86 2597 1.2
15 NMRV063 90B5/B14 90S2
| 112 25 105 2797 0.9
93.3 30 120 2973 1.0
120 7.5 103 3227 2.1
Q0 10 134 3551 1.7 NMRV0O75 100B5/B14 100L6
60 15 193 4065 1.9
56 50 187 4160 1.3
NMRV0O75 90B5/B14 90S2
46.7 60 215 4421 1.1
140 10 89 3065 9D
93.3 15 129 3509 1.6
NMRV0O75 90B5/B14 90L 4
70 20 166 3862 1.3
56 25 202 4160 1.0

SUNCARVE 40



N EE25% / GEAR UNIT SELECTION TABLES

nE . MEH I:

r2 :IT-

(kw) (r/min) (Nm) (N) D
46.7 30 233 4421 1.0 NMRVO075 90B5/B14 90L4
280 10 45 2433 3.2
186.7 15 66 2785 2.3
140 20 86 3065 1.9

NMRV0O75 90B5/B14 90S2
112 25 105 3302 1.4
93.3 30 121 3509 1.4
70 40 156 3862 1.1
90 10 13T 3929 2.7
60 15 198 4498 2.1
36 25 310 5333 1.2
30 30 358 5667 1.3
70 20 1480 4273 2.
56 25 207 4603 1.6
46.7 30 239 4891 1.7
NMRV090 90B5/B14 90L4
39 40 303 5383 1.2
28 50 363 5799 0.9
23.3 60 417 6163 0.8
1.5 56 50 197 460 1.
e a NMRV090 90B5/B14 90S2
46.7 60 22T 4891 1.1
45 20 264 6256 2. T
36 25 S22 6739 2.4
30 30 363 7161 2.3
NMRV110 100B5 100L6
22.5 40 471 7882 1.7
18 50 565 8491 1.8
15 60 649 9023 g WL
35 40 315 6803 2.2
28 50 379 7328 1. 7T
NMRV110 90B5 90L4
Et T 60 442 7787 1.4
17.5 80 548 8571 0.9
46.7 60 236 6181 2.0
35 80 2090 6803 1.3 NMRV110 90B5 90S2
28 100 358 7328 1.0
22.5 40 471 10309 2.3
18 50 565 11105 1.9
NMRV130 100B5 100L6
15 60 659 11801 1.4
p i (. 80 802 12989 1.1
17.5 80 597 11210 1
NMRV130 90B5 90L4
14 100 655 12076 1.1
733 7.5 51 1873 1.8
280 10 66 206 1 1.5 NMRVO063 90B5/B14 90L2
186.7 15 97 2359 1.1
186.7 7.5 99 2785 1.9
2 D 140 10 131 3065 1.5 NMRVO75 100B5/B14 100L1-4
93.3 15 189 3509 1.1
373.3 7.5 50 2210 2.6
280 .
10 56 Ginii &b NMRVO75 90B5/B14 90L2
186.7 15 97 2785 1.9
140 20 126 3065 3l

41 SUNCARVE



N 1ER2%% / GEAR UNIT SELECTION TABLES

B2

. B N e B NMRV075 100B5/B14 90L2

186.7 75 100 3081 29

140 10 132 3391 23

93.3 15 191 3882 1.9

== - > = = NMRV090 100B5/B14 100L1-4
56 25 304 4603 1.1

46.7 30 351 4891 1.2

120 7.5 154 3570 22

90 10 201 3929 1.8

e . o e - NMRV090 112B5/B14 112M6
45 20 378 495 1.0

140 20 129 3391 2.0

112 25 159 3653 1.6

93.3 30 185 3882 1.7 NMRV090 90B5/B14 90L2

70 40 237 4273 1.2

56 50 289 4603 0.9

70 20 255 5399 25

56 25 311 5816 2.2

29:¢ = 996 6151 2.0 NMRV110  100B5 100L1-4
35 40 462 6803 1.5

28 50 555 7328 1.2

23.3 60 648 7787 1.0

90 10 203 4965 3.5

60 15 294 5684 2.6

45 20 388 6256 1 9 NMRV110  112B5 112M6
36 25 473 6739 1.6

30 30 532 7161 1.6

112 25 161 4616 3.1

93.3 30 187 4905 3.0

70 40 243 5399 2.2 NMRV110  90B5 90L2

56 50 296 5816 1.7

46.7 60 347 6181 1.4

35 40 468 8897 22

28 20 263 9584 1.7 NMRV130  100B5 100L1-4
23.3 60 657 10185 1.4

17.5 80 816 11210 1.0

36 25 473 8814 22

30 30 539 9366 22

225 40 691 10309 1.6 NMRV130  112B5 112M6
18 50 829 11105 1.3

15 60 066 11801 1.0

35 80 444 8897 1.3

- o - vy o NMRV130  90B5 90L 2

28 50 570 13103 25

= = il Jonet L NMRV150  100B5 100L1-4
175 80 816 15325 1.4

14 100 960 16508 1.0

SUNCARVE 42



N EE25% / GEAR UNIT SELECTION TABLES

n2 MEn FrE
(r/min)
373.3 7.5 68 2210 1.9
NMRV075 100B5/B14 10012
280 10 90 2433 1.6
186.7 7.5 135 2785 1.4
140 10 178 3065 1.4 NMRV0O75 100B5/B14 100L2-4
93.3 15 258 3509 0.8
373.3 7.5 70 2446 3.0
NMRV090 100B5/B14 100L2
280 10 92 2692 2.6
186.7 7.5 187 3081 DA
140 10 180 3391 1.7
el 12 =] 2002 L4 NMRV090 100B5/B14 100L2-4
70 20 340 4273 1.0
56 25 414 4603 0.8
46.7 30 479 4891 0.9
93.3 15 264 4905 2.5
70 20 348 5399 1.9
56 25 425 5816 1.6
NMRV110 100B5 100L2-4
46.7 30 485 6181 1.5
. b 35 40 630 6803 1.1
' 28 50 757 7328 0.9
120 7.5 210 4511 3.1
90 10 77 4965 2.6
NMRV110 132B5 13256
60 15 401 5684 1.9
45 20 528 6256 1.4
56 25 430 7607 2.2
46.7 30 491 8084 2.1
35 40 638 8897 1.6 NMRV130 100B5 100L2-4
28 50 767 0584 1.3
23.3 60 896 10185 1.0
17.5 80 1113 11210 0.8
90 10 o7 6494 3.5
60 15 406 7434 2.6
45 20 528 8182 2.0
NMRV130 132B5 13256
36 25 645 8814 1.6
30 30 735 0366 1.6
225 40 942 10309 1.2
28 50 778 13103 1.8
23.3 60 896 13924 1.4
NMRV150 100B5 100L2-4
17.5 80 11473 15325 1.0
14.0 100 1310 16508 0.8
373.3 7.5 91 2210 1.4
NMRV0O75 112B5/B14 112M2
280 10 120 2433 1.2
186.7 7.5 180 2785 1.0
NMRV075 112B5/B14 112M4
140 10 237 3065 0.8
373.3 7.5 93 D446 2.3
4.0 NMRV090 112B5/B14 112M2
280 10 123 2692 1.9
186.7 7.5 182 3081 1.6
140 10 240 3391 1.3
NMRV090 112B5 112M4
93.3 15 348 3882 1.0
70 20 453 4273 0.8

43 SUNCARVE




N 1ER2%% / GEAR UNIT SELECTION TABLES

P n, M., o
(kw) (r/min) (Nm) (N)
140 10 240 4285 2.5
93.3 15 352 4905 1.9
20 20 464 5399 14 NMRV110 112B5 112M4
56 25 566 5816 1.2
46.7 30 647 6181 1.1
120 7.5 280 4511 2.3
90 10 369 4965 19 NMRV110 132B5 132M1-6
60 15 535 5684 1.4
56 25 573 7607 1.6
46.7 30 655 8084 1.6
4.0 35 40 851 8897 1.2 NMRV130 112B5 112M4
28 50 1023 9584 1.0
23.3 60 1195 10185 0.8
120 7.5 283 5901 3.1
90 10 369 6494 2.6
60 15 541 7434 2.0 NMRV130 132B5 132M1-6
45 20 705 8182 1.5
36 25 860 8814 1.2
28 50 1037 13103 1.4
N3 3 60 1195 13924 1 1 NMRV150 112B5 112M4
17.5 80 1484 15325 0.8
186.7 7.5 250 3893 2.2
140 10 330 4285 1.8 NMRV110 132B5 13254
93.3 15 484 4905 1.4
70 20 638 5399 1.0
140 10 334 5605 2.5
93.3 15 490 6416 1.9
£9 &Y 638 Thg2 14 NMRV130  132B5 13254
5 5 b6 25 788 7607 1.2
46.7 30 900 8084 1.2
35 40 1171 8897 0.9
70 20 645 9654 2.0
56 25 788 10400 1.5
i 30 34 11651 1.3 NMRV150  132B5 13254
35.0 40 1171 12163 1.3
28.0 50 1426 13103 1.0
23.3 60 1643 13924 0.8
186.7 7.5 341 3893 1.6
140 10 450 4285 1.3 NMRV110 132B5 132M4
93.3 15 660 4905 1.0
186.7 7.5 345 5092 2.0
140 10 455 5605 1.8
7 & 93.3 15 668 6416 1.4
20 20 870 2062 10 NMRV130 132B5 132M4
56 25 1074 7607 0.9
46.7 30 1228 8084 0.8
35 40 1596 8897 0.7
A £ i 2t 1 NMRV150 132B5 132M4
56 25 1074 10400 1.1

SUNCARVE 44



46.7 30 1274 11051 0.9
LD NMRV150 132B5 132M4
35 40 1596 12163 1.0
186.7 7.5 512 6962 2.3
140 10 675 7663 1.8
11 93.3 15 990 8771 1.3 NMRV150 160B5 160M4
70.0 20 1291 9654 120
56.0 25 1576 10400 0.8
186.7 7.5 698 6962 T £
140 10 921 7663 1.3
16 NMRV150 160B5 160L4
93.3 15 1351 8771 0.9
70.0 20 1760 9654 0.7

EN%Z%<7317 / GEAR BOX INSTALLATION POSITION

NMRV5EHR{1%ZE=BG{ / NMRV AND MOTOR MOUNTING POSITION

el . 1e7] .
il = e, - — B
- JO——O—F - OO
| B 3 |
eEHe ¢ oo +
o = P
B3 B8 V5

I 1
N N
U © © [T 1]
————— o 0 % O e
SE—— et . l | e
- A, 0] | = I KR 1 B
s SRS | L
= X . e =
s A & Ao —=
¥ e - = I
ALt ='¢ oo | —
%ﬁg ,ﬁo\y
i

i MTETRETESRRER, 18EB3RER MR,

Note: if there is no special instructions to B3 standards for installation.

45 SUNCARVE




NMRVEMGZ5] /NMRV ACCESSORIES SERIES
MR~ / OUTPUT SHAFT SIZE

|
]/

K1

:

V1

V2

W [e1%60 L 4 (SZ)

K1

R
|

_____6\7 3

V2

V1

V2

030 63 64 102 128 o 16 14 M6 30 32.5
040 78 82 128 164 6 20.5 18 M6 40 43
050 02 99.5 183 199 8 28 25 M10 50 93.5
063 112 109.5 1#3 219 8 28 25 M10 50 53.5
075 120 123.5 192 247 8 31 28 M10 60 63.5
090 140 154.5 234 309 10 38 35 M12 80 84.5
110 155 162 249 324 12 45 42 M16 80 84.5
130 170 170 265 340 14 48.5 45 M16 80 85
150 200 187 297 374 14 53.9 50 M16 82 87

SUNCARVE 46



NMRVELGZ%5] / NMRV ACCESSORIES SERIES
%= (F) R~ / OUTPUT FLANGE DIMENSIONS (F)

47 SUNCARVE






NMRVECFZ51 / NMRV ACCESSORIES SERIES
#7% (A) R / TORQUE ARM (A) SIZE

1y

N/

B

025 4 45 70 14 17.5 18
030 4 00 85 14 24 15
040 4 70 100 4 31.5 10 18
050 4 80 100 14 38.5 10 18
063 6 95 150 14 49 10

075 6 112.5 200 25 47.5 20 30
090 6 129.5 200 25 57.5 20 30
1ilfa 6 160 250 30 62 25 35
130 6 179 250 30 69 25 35
150 8 210 250 30 84 25 35

49 SUNCARVE




NMRVECHZ%5] / NMRV ACCESSORIES SERIES

E
NS

R~J / DUST COVER SIZE

N2

030

040

050

063

075

090

110

130

150

42

50

58

69

74

85

94

102

117

SUNCARVE 50






